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Foundations and Pre-Calculus 10

5)  Find the sum of the following series.
259,13, ., 101 =S A=

o ~ b)83,80,77,...,5 QHQW.LHIw
0l=z 5+(n-DY S - 9S(S+01)

Se57 &2 S = 83+(n-1X-3) mﬁumn&;\mv
Ao = in-1) , .,N - =18 = -3(n-1) . M.m@
24 = -\ =325 2b =n-| =B
N2

n=2

6) Find the sum of the following.

a) The first 16 terms of 4, 11,18 ... b) The first 10 terms of 19, 13,7, ..
Q(.\\L.‘ O_ .\\A

o= 49 ’ .- L
t, =4 +06-D7= (09 £, = @+Co-1DC6) = -35)
3, = b (4109

S——

S =L R+ Twmvv
2 ; 2
z Q0% - -p O
7)  Find the sum of the first 100 odd numbers.
,3,5, - -
sk, d =2 Sioo= 100 (1 +149)
tio = | FCQoO-152 A
- 1a9 = lo 00O
8) Jerry deposited $20,000 on an investment that will give $1,750 for every year that his
money stays in the account. How much money will he have in his account by the end of
yeaEsr 19ep. NP0, 4. a_=13sp
. A = 138D
to = 13O+ (& -1D(1F30)

Se

—

(1]

- B(Irsp +1¢ cod)
¢ 000 ) <

= 3 000

20 000 +62000 Hm@_w OoCD
In his piggy bank, Bingo dropped $1.00 on May 1, $1.75 on May 2, $2.50 on May 3 and so
on until the last day of May. Oc=1 g Ad=0.95

a) How much did he drop in his piggy bank on May 197

£.q= | +C19-12(0.35)
- $I+ SO

9)

b) What was his total deposit in his piggy bank for the month of May?
£, = 1+ (21120035

= 2250

S, 731 (1 +23,50) = $2239.2Y
.k



